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Simple Circuit 3

Us

3 =
+ I'°\/

=~
o o

5*6 &E)b\/ S‘\Oi\'e, :

means the \oldages
Settled . Q%Q

35 Q\mre\r\“ \¢ Rero =D

LOO\:\V\% %w U\ value \M\\l\e\(\
\Jc, = CJOV\S'\'. L,Q'*CQDL\I-S'&OC\C/)

Iy =©
\ \/\ w | WO
OWwm's |rao \[E:%?
vo\jm%e/ﬂbe% : \)\_ =V
U= O

—)

oPeEN - Ul




Equivalent Circuits with Capacitors
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Capacitive Touchscreen — Model without touch
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Capacitive Touchscreen — Model with touch
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2D View — How do we measure Capacitance?
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Measuring Capacitance Models — Attempt #1
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Measuring Capacitance Models — Attempt #2 — add switches
and a reference capacitor
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Measuring Capacitance Models — Attempt #2 — add switches
and a reference capacitor G c\o:c S open
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Measuring Capacitance Models — Attempt #3 — known initial
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Measuring Capacitance Models — Attempt #3 — known initial
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How can we go from voltage measurement to binary
answer: touch or no touch?
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How can we go from voltage measurement to binary

answer: touch or no touch?

* New tools are needed — new circuit elements
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An example of an Op-amp circuit diagram

Internal schematic of a model 741 operational amplifier
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Schematic diagram of a model 741 op-amp.




Operational Amplifier

An op-amp (operational amplifier) is a device that transforms a small voltage difference into a very large
voltage difference.
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Operational Amplifier Vs ~Vss o ANA | U *

An op-amp (operational amplifier) is a device that transforms a sma
voltage difference.
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Comparator — optimized for binary output
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Comparator — optimized for binary output
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Back to our Capacitive Touchscreen
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